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6 8 10 202 11 2 X+ 10/x+ 24 =()x+ 40)*( x+ 6)
6 8 10 202 11 2 X+ 10/x+ 24 =()x+ 12))%C |x+ -2)

9 12 15 203 11 3 x+ 15/x+ 54 =()x+ 6)*( x+ 9)
912 15 203 11 3 X+ 15/x+ 54 =(x+ 18))*( |x+ -3)

10/ 24/ 26 30212 2 X+ 20 x+ 120 =()x+ 6D*(C x+ | 20)
10/ 24/ 26 30212 2 X+ 20 x+ 120 =()x+ 30D)*(C x+ -4))

12/ 16/ 20 401 0201 x+ 20 x+ 96 =(x+ 8)*( |x+ 12))
12/ 16/ 20 401 0201 X+ 20/ x+ 96 =(x+ 240*( x+ -4))

14/ 48 50 402 032 X+ 50 x+ 336 =(x+ 8)*( |x+ | 42)
14/ 48 50 402 032 X+ 50 x+ 336 =(x+ 56)*( x+ -6)

15/ 20/ 25 20511 5 [x+ 25 x+ 150 =(x+ 10D)*( x+ 15)
15/ 20/ 25 20511 5 [x+ 25 x+ 150 =(x+ 30)*(C x+ -5)

15 36 39 3312 3 ¥+ 39 x+ 2700 =(x+ 9)*( x+ | 30D
15 36 39 3312 3 ¥+ 39 x+ 270 =(x+ | 45D)*( x+ | -6)
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16 30 34 4 2 1 2 X+ 34 x+ 240 =(x+ | 24)*( x+  10)
16 30 34 4 2 1 2 X+ 34 x+ 240 =(x+ | 40)*( x+ -6)
18 24 30 206 1 6 x+ 30 x+ 216 =(x+ | 12)*(C x+  18)
18 24 30 206 1 6 x+ 30 x+ 216 =(x+ | 36)*( x+  -6)
18 80 82 5 2 4 2 x4+ 82 x+ 7200 =(x+  10)*( x+ | 72)
18 80 82 502 4 2 X+ 82 x+ 7200 =(x+  90D*( x+ -8)
20 48 52 61 4 1 '+ 52 x+ 480 =(x+  12)*( x+  40)
20 48 52 61 4 1 '+ 52 x+ 480 =(x+  60)*( x+ -8)
21 28 35 207 17 K+ 35 x+ 294 =(x+  14)*( x+ 21)
21 28 35 207 17 K+ 35 x+ 204 =(x+ | 42D x+ -7)
21 72 175 4 3 3 3 x+ 75 x+ 756 =(x+  12)*( x+ = 63)
21 72 175 4 3 3 3 x+ 75 x+ 756 =(x+  84)*( x+ -9)
24 32 40 208 1 8 '+ 40 x+ 384 =(x+  16)*( x+ = 24)
24 32 40 208 1 8 X+ 40 x+ 384 =(x+  48)*( x+ -8)
24 45 51 4 3 1 3 x+ 51 x+ 540 =(x+  36)%( x+  15)
24 45 51 4 3 1 3 x+ 51 x+ 540 =(x+  60)*(C x+ -9)
2470 74 6 2 1 2 '+ 74 x+ 840 =(x+  60)*( x+  14)
2470 74 6 2 1 2 '+ 74 x+ 840 =(x+  84)*( x+ -10)
25 60 65 35 12 5 ¥+ 65 x+ 750 =(x+  15D)*( x+  50)
25 60 65 35 12 5 ¥+ 65 x+ 750 =(x+  75)*( x+ -10)
27 36 45 6 1 3 1 x+ 45 x+ 486 =(x+  18)*( x+  27)
27 36 45 6 1 3 1 x+ 45 x+ 486 =(x+ 54D x+  -9)
28 96/ 100 8 1 16 1 x+ 100x+ | 1344 =(x+ 16D)*( [x+ | 84)
28 96/ 100 8 1 6 1 x+ 100x+ | 1344 =(x+ | 112)%( x+ | -12)
30 40 50 2010 1 10 x+ 50 x+ 600 =(x+  20)*C x+  30)
30 40 50 2010 11 10 x*+ 50 x+ 600 =(x+  60)*( x+ -10)

27




30 720 78 6 6 X+ 78 x+ 1080 =(x+  18)*( x+  60)
30 720 78 6 6 X+ 78 x+ 1080 =(x+  90)*( x+ -12)
320 60 683 1 1 X+ 68 x+ 960 =(x+  48)*( x+  20)
320 60 683 1 1 x4+ 68 x+ 960 =(x+  80)*( x+ -12)
33 44, 55 11 11 x+ 55 x+ 726 =(x+  22)% x+ | 33)
33 44, 55 11 11 x+ 55 x+ 726 =(x+  66)*( x+ | -11)
35 84 91 7 7 X+ 9lx+ 1470 =(x+  21)*( x+  70)
35/ 84 91 7 7 X+ 9l x+ 1470 =(x+ 105)*( x+ -14)
36 48 60 3 3 X+ 60 x+ 864 =(x+  24)*( x+ = 36)
36 48 60 3 3 X+ 60 x+ 864 =(x+  72)*( x+ -12)
39 52 65 13 13 X'+ 65x+ 1014 =(x+  26D)*C x+ | 39)
39 52 65 13 13 X+ 65x+ 1014 =(x+  78)*( x+ -13)
40 42 58 2 2 X+ 58 x+ 840 =(x+  30D)*( x+  28)
40 42 58 2 2 X+ 58 x+ 840 =(x+  TOD*( |x+  -12)
40 75 85 5 5 X+ 85x+ 1500 =(x+  60)*( x+  25)
40 75 85 5 5 X+ 85x+ 1500 =(x+ 100)*( x+ & -15)
42 56 70 14 14 x'+ 70x+ 1176 =(x+  28)*( x+ = 42)
42 56 70 14 14 x'+ 70x+ 1176 =(x+  84)*( x+  -14)
45 60 75 15 15 x+ 75x+ 1350 =(x+ | 30)*( x+  45)
45 60 75 15 15 x+ 75x+ 1350 =(x+ | 90)*( x+  -15)
48 64 80 1 1 X+ 80 x+ 1536 =(x+ = 32)%( x+  48)
43 641 80 1 1+ 80 x+ | 1536 =(x+ | 96)*( x+ | -16])
51 68 85 17 17 X+ 85x+ 1734 =(x+  34)*C x+ 51D
51 68 85 17 17 x'+ 85x+ 1734 =(x+ 102)*( x+ @ -17)
54 72 90 2 2 X+ 90 x+ 1944 =(x+  36)*( x+  54)
54 72 90 2 2 X+ 90 x+ 1944 =(x+ 108)*( x+ -18)
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57 76, 95 19 19 x+ 95)x+ | 2166 =()x+ 38D*( x+ | 5T)
57 76, 95 19 19 x*+ 95)x+ | 2166 =(x+ | 114D*C x+ | -19)
60 63 87 3 3 X+ 87 x+ 1890 =(]x+ | 45)*(C x+ | 42)
60 63 87 3 3 X+ 87 x+ 1890 =(jx+ = 105D)*C x+ | -18)
60 80 100 5 5 X+ 100x+ | 2400 =(x+ | 40)*C x+ | 60)
60 80 100 5 5 X+ 100)x+ | 2400 =(x+ | 120D)*C x+ | -20)

29
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